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FOLLOW THE INSTRUCTIONS CAREFULLY BEFORE ANSWERING

1. For each guestion, choose the correct answer from among the four choices
given. Bubble the circle of the correct answer numberwith Blue/Black ball point
pen only.

2. Before leaving the examination hall, handover the OMR answer sheet to the
invigliator.

3. Write your Hall Ticket number in the block provided in the Question paper booklet
immediately atter receiving it.

4, Do nol write anything in'the Ouestion paper booklet. However, for any rough
work, you can make use of the space provided at the end of the Question paper

hooklat.
5. Do not Overwritein the OMR answer sheet.

6. Question Na's from 1 to 50 are from English Language. The next 100 Questions
l.e. from 5110 150 are from the group subjects concermed.

7. Each question carries one mark. There will be no negative marks for wrong
dnNSWears.

8. The Candidate is allowed to take away the question paper booklet along with him
after the completion of the examination.
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PART -1
GENERAL ENGLISH

1-6) : In the following passage, there are blanks, each of which has been numbered.
inat each number, four words are suggested, one of which fits the blank appropriately.

Find out the appropriate word,

The appointed day has come, and India stands _(1)_ again, after long _(2) _ and struggle,

awake, vital, free and independent. The past _(3) _ on to us still in some _14)_and we

have to do much betore we _(5) _ our pledges.

1. (1) here (2) forth

(3) free (4) forward
2 (1) penod (2) slumber

(3) compulsion (4) exile
3. (1) sticks (2) faces

(3) extends (4) clings
4. (1) measure (2) quantity

(3) limits (4) ways
5. (1) take (2) redeem

(3) rectity (4) comply
6. We _ __ /goyesterday.

identity the appropriate word to fill In the blank.

(1) might (2) may

(3) had'to (4) should
7. A haven' got any money.

B : Neither have |.

C : Nor have |.

D : | havenl either.

Whose response to "A’ is grammalically corract 7

(1) B's (&) C's

(3) D's (4) All the three are correct

MEC/CEC [2]
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10.

This isn't very interesting, ___ 7
Complate the sentence choosing the correct question lag.
(1) isn't it (2) isn't this (3) is it (4) is this

They have buill a new hospital near the alrport.

The passive form of the above santance Is

(1) A new hospital has been built near the airport.

(2) A new hospital was built by them near the airport.

(3} A new hospital is built by them near the airport.

(4) A new hospital is being built by them near the airport

Do you know ?
Identity the later part of the sentence.
(1) what time does tha film bagin

(2) what time is the film begin

(3) what timea the film begins

(4) what is the time the film beginsg

11. The man / which lives / inthis.housa / is from Kolkata.
(a) (b) (c) ()
The sentence is divided into four parls - a, b, ¢ and d. |dentify the parn of the
sentance that has an arror.
(1} (a) (2) (b) (3 () (4) (d)
12. | usually getup early but this morning | at 9.30.
Choose the appropriate phrase to fill in the blank.
{1) “hadgotup (2) was getting up
(3] usedtogetup (4) gotup
13. This road is very dangerous. There many accidents.
Choose the comect option to fill in the blank.
(1) hasbeen (2) were (3) arebeing (4) hadbeen
MEC/CEC [2] (P.T.0.)
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14.

15.

16.

17.

Raghu @ _ 7

Sreenu: It takes four hours by train from Hyderabad to Vijayawada.
Identify Raghu's question from the following.

(1) What is the distance between Hyderabad and Vijayawada

(2) How long does it take by train from Hyderabad to Vijayawada
(3) What is tha time taken from Hyderabad to Vijayawada

(4) How will you go to Vijayawada from Hyderabad
Oxford is famous for __ University.

Choose the appropriate word to fill in the blank.
(1) it's (2) their (3) its (4) our

Which flowers do you want, 7

Choose the correct option to complete the question.

(1) These or those (2). These ones or those ones
(3) This ones or that ones (4)..This ones or the other ones

a) | gave to Padma the keys.
b) | gave Padma the keys.
Read the sentences (a) and (b). Identity the comect sentence(s).

(1) Only (a) is comrecl (2) Only (b) is comect

(3) Both (a) and (b).are correct (4) Both (a) and (b) are incorrect
18. Write your name ’ _the top of the page.

Identify the correct preposition to fill in the blank.

(1) on {2) in (3) at (4) to
19. If Laxmidid not hava a job, what would she do 7

The above sentence talls us that

(1) Laxmi has a job. (2) Laxmihas no job.

(3) Laxmiused to have a job. (4) Laxmiwanted to have a job.
20. Choose the word with the correct spelling.

(1) grammar (2) genuin (3) glous (4) greenary

MEC/CEC [4]
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21. We were lguched by the honesty of the beggar.
The underdined word means
(1) impressad (2) moved (3) surprisad (4) horrified

22. Hardly had | finishad writing tha letter bafore Karthik arrived.
The underlined word can be correctly substituted by
(1) then (2) while (3) as (4) when

23. We are 50 poor
|dentify the later pari of the sentence.

(1) toeducate herson. (2) that you can get this job.
{3) thatwe cannot buy books. (4) that | cannot walk anymore.

24. The word 'landlady’ is a
(1) vegetable  (2) person (3) place (4) thing

25. Try topravent all diseases,
Choose the correct form of the underined word to fill in tha blank.

(1) prevention (2) preventing (3) prevented (4) praventiva
26, ldentify the pair of words in which the underlined paris are pronounced in the same

way.,
(1) head-bread (2) lead-graat
(3) great—bread (4) lead-head
27. Your friend offered you a cigarefte. You don't have the habit of smoking. What
would you say (o him 7
(1) U'mhappy ! (2) It's so nice !
(3) “No, thanks | (4) |don't mind !

28. Children are always curious.
Identity the part of speach of tha underinad word.
(1) moun (2) verb (3) adjective (4) adverb
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29, Anusha is the most beautiful of all the girls in our college.

J1.

The sentence can also be written without changing the meaning as
(1) Very few girls in our college are as beautiful as Anusha.

(2) Mo other girl in our college is as beautiful as Anusha.

(3) Some ather girls in our college are as beautiful as Anusha.

(4) Anusha is more beautiful than some other girls in our college,

Identify the correclly-punctuated sentence.

(1} Mary who is an inteligent student has passed the axamination
(2) Mary who is, an intelligent student has passed the examination
(3) Mary | who is an intelligent student, has passad the examination
(4) Mary | who is an intelligent student has passed the examination

The sentences labelled a, b, ¢, d, ¢ ara jumbled. |dentify the correct order.
a. He wants o see Siddu.
b. Snoopy goes to school.
c. Itis the headmaster'sroom.
d. Snoopy goes o a room.
e. Siddu s not there,

(1) a, ¢ deb (2) b,a,d,c,e

(3) b, a,de,.d (4) d,e,c,a,b

Many.of the problems were caused by a . in communication.
|dentifty the correct option 1o fill in the blank.

(1) break through (2) breakup

(3) break out (4) break down

33. 'God exists and loves everybody' is

(1) afact (2) abelief (3) anissue (4) aview

MEC/CEC [6]
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H. A These trousers |'ve bought are too long.
B : Well, why not get {
Choose the correct option to complete B's reply.
(1) themshorenad (2) them a short cut
(3) them widened (4) them narrowed

35. “It was | who broke the vase,” he
Choose the verb which best fits the meaning n-!' the santance 1o complate it.

(1} shrieked (2) begged

(3) confessed (4) complained
36. |dentity the word which can be used as a noun or an.adjective or a verb.

(1) ache (2) faint (3) swell (4) shiver
37. Choose the right suffix to make tha word ‘contant” a noun.

(1) ~ly (2) —ship (3) '—hood (4) —ment
38. Ourteam won ___threa goala/points.

Idantify the correct preposition tofilkin the gap.

(1) by (2) with (3) on (4) for

39. |dentify the compound sentence.
(1) |sawaman whean lwas going to college.
(2) Itold Leela that Rani was a liar.
(3) He is absentbecause he is sick.
(4) You work hard or you will fail.

40. Identity the antonym of ‘Harmony',

(1) Success (2) Conflict (3) Joy (4) Solaca
41. One who is well-varsad in the science of female ailments is
(1) A Gynaecologist (2) A Dentist
(3) A Druggist (4) An Oculist
MEC/CEC N (P.T.0.)
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42. \dentify the set of words arranged in the alphabetical order
(1) relax - religion - release — relish
(2} religion — relax - relish — releasa
(3) relax - release — religion - relish
(4) relish — relax — religion — release

43. 'Shall | do it for you 7'
The 'language function’ of the sentence is
(1) seeking permission (2) making an offer
(3) askinga question (4) making a suggestion

44. He is in graat troubles. He is cheerful.
The combined form of the above two sentences begins with

(1) Forall
(2) Sincehe

(3) Besidesbeing .
(4) Assoonashe v

45. Everywhere elegant old bulldings are being and madiccra modem
structures are being put up.
Choose the appropriate phrase to fill in the blank.
(1) pulled off (2) pulledup
(3) pulled through (4) pulled down

46-50 : Readthe passage carefully and answer the queslions that follow.

“The histary of science is the real history of mankind”. In this striking epigram a nineteenth
century writer links science with its background. Like mos! epigrams, its powar lies in
emphasising by contrast an aspect of truth which may be easily overlocked. In this case
it is easy to overlook the relations between sciance and mankind and Lo treal the former
as some abstract third party, which can sometimes be praised for its beneficial influences
but frequently and conveniently blamed for the horrors of war. Science and mankind

MEC/CEC (8]
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cannot be divorced from time to time at men's convenience. Yel we have seen that,
inspite of countless opportunities of improvement, the opening years of the present penod
of civilisation have been dominated by international conflict.

Is this the inevitable result of the progress of science or does the fault lie elsewhere 7
46. The santence, “The history of science is the real history of mankind’ means
(1) science has given man countless opportunities for improvemant.
(2) sclence and mankind cannot always be divorced.
(3) mankind has progressed as science has developed.
(4) the good and bad uses of science reflect the character of man.

47. The epigram given in the passage highlights
(1) the evolution of science
(2) the real history of man
(3) the contrast between science and civilisation
(4) an elusive truth about human nature

48. The aspect of truth likely to be averlooked is thatl
(1) science has made warhowible
(2) sciance is banaficial loman
(3) science is what man-has made it
(4) sciance has created intarnational conflicts

49. The writer impligs that international conflict is the result of
(1) faulty ralations batween nations (2) human weaknesses
(3). Invention of deadly weapons (4) progress of science

50.-.Thelast sentence suggests that
(1) civilisation could prosper well without scientific inventions.
(2) the trouble lies with human beings themselves.

(3) people have missed opportunities to improve their lot.
(4) the horrors of modern life are the inevitable result of the progress of science.
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PART -l
MATHEMATICS

51. If A and B are two disjoint sels, then the value of A~ B Is
A, B o> 3o Dathog Alotedd A MB Daxs
(1) ¢ (2) A
(3) B (4)

52. ~(p=>q) is equalto

~ (p = Q) D SRRSO
(1) ~p=~q @\ =q=~p
(3) pa~q (4) pv=q

83. Iff{x) = x + 1, then the value of 3.1(2) -2.1(3) is
f(x) = % + 1 maodh 3. (2) £24(3) Doss), Do
(1} 0 (2) 1
(3) 2 (4) 3

54. The solution of ¥* — 5x + 4 < 0 lies between

(1)-Jand 4 (2) 2and3

(3) ~1and-4 (4) —2and-3

X? = 5X + 4 < 0 cloog, G Ded Sog dotood

(1) 138c004 (2) 2 S8 d

(3) =1 mtat0—4 (4) —2s8ans -1
MEC/CEC [10]
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55. ||:+E=41muumu-n¢ :-iu

11;}:4@:& :t-%..ﬂ...‘ =

(1) 32 2) %
(3} 'fi 4) 243

56. W ihe roots of an cgqualion pa® + gx + =0 an equal, Ihen
P+ gx 4+ r =0 e Alussne g, e Xrto pond
(1) Fapr (2 =4
(3 pf = dqr 4) (Fse¥

57. HAM and G M of lwo numbers ane 16 i 8, then the valus of HM. is
T ey LRSI St A Glaiens o TR b B pad o ortRegried

]
(1) 2 (2) 8
(3) 4 4) &

58. The graphredx'= = my? s in the guadrants

(1) 9,andQ, (2) 0,and0,
(3 0,and0, (4) Q,andQ,
¥ = =y nrtod Agrome dod S
(1) Q, 2obats Q, (2) Q, Zutoro Q,
(3) O, zsbemo O, (4) O, a0,
MEC/CEC [1] (P.T.0.)
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59. If x — 3 is a factor of 2x% + 9x + k, then the value of 'k' is
2x% + 0% + K £ X — 3 X oerofiion sond 'K Do
(1) 45 (2) —45
(3) -9 (4) 8

60. H(x+y, 1) =(3, vy~ x), then the value of 'x' is
(x+y, 1) = (3, y — x) soud x Dewds

(1) O (2) 1
(3) 2 (4).3

B1. I [x%]p = x*, then the value of 'p' is

[u%]a = %% el '’ Do

(1) 3 @ 3
1

(3) 2 (4) 5
62. If cO88=1%, then sin(90+6) Is equal to

€080 =1, coxsb $in(90+ 6) Jess

-12

(1) 33 (2) %

(3) % @ 73
WEC/CEC [12]
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63. The shape of the decislon box in a flow chart is

(1) Rectangle (2) Ellipse

(3) Rhombus (4) Parallelogram
s Dibod” Dol hel emsiin

(1) &g soosgsan (2) &g syasw

(3) oot (4) Srons Sty

64. Two circles with radii 'R’ and 'r' touch internally. If-the distance between their
centres is 'd’, then

‘A Subaio T TR fo Dol Syites ecbdorr ndctclotuion. Tl Sofre Sof; Srdo

'd woud
(1) d<R-r (2) d=R+r
(3) d>R=r (4) d=R~-r

65. f x=tanB+secH, y=1an@ -sech, then
x=tan@ + secd; y=1ano - sec Huond

(1) xy=1 2) x®+yi=1
(3) xy==1 (4) xt—y2=1

66. If the median of the data :,; ; :mﬂ“ is 10, then the value of ‘%' is

X5 % %m%mm&b%mmamm
(1) 10 (2) 20
(3) 2 (4) 40
MEGCEC [13] (P.T.0.)
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B7. The slope of the straight line %,, % =1is

3—+;=1:1:'1:¢E-;:-:’-=Em-:m::¢,:rm

2
(1) 3 @ 3
@ ) S
68. If sind =cos20, then cot 38 value is

5iNB = cO5 20 rscoodd COL3I0 Densd

1
(1) 43 2 77
(3) 0 ) o

68. Fora given data, mean is 39 and median 2 38, then its mode is equal to

Q. Booklet |

L¥ SonotEo daot, Sittw 39 Sobatu it 38 mowd ol dneEin Dasd

(1) 38 (2) 37
(3) 38 (4) 40

70. If 5* —5** =0, then the'value of ‘%' is
5" 5" = 0 mond X’ Deod
(1) 0 (2) -1
(3) 1 (4) 2

71. If A=60° then the value of 2sin%-cosA is
A = 60° wond 28inds - coshy Dess

M I @ 2
@ 22 @ 2
MEC/CEC [14]
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72. The point of concurrence of allitudes ol a triangle is

74

T6.

(1) circum centre (2) ortho centre

(3) centroid (4) incentre

e e s drpion el Dothi

(1) 363ocnw (2) oo ToEin

(3) rociEoghion (4) woboiogn

i A= AT, then A is called

(1) Scalar matrix (2) Skew symmetric matrix
(3) Symmetric matrix (4) Identity matrix
A=ATscod At

(1) elwrirgs (2) (edrgp amis

(3) Fgsimps [4) oo Smde

The value of '1' radian (approximatély) is

"1" Slahn claof Do (R

(1) 56°16° (2) 5718

(3) 58°16° (4) 59°16’

If two circles touch internally, then the number of their common tangants is

esofdol™ Slotitd Do Syomet Aabiie alad idee owy
(1) 2 2 3

(3 0 (4) 1

I the matrix A = [‘E 3] is singular, then the value of k' is

4 Kk

A= [:' ‘:] LY ererin SO escosd 'K’ Dewss

(1) 2 (2) 4 (3) & (4) 8

MEC/CEC [15] (P.T.0.)
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78.

The point that satisfies the equation 3x+y< 4 is

3+ ¥ < 4 o ool Dodoy)
(1) (~-1.-2) (2) (=1,89)
(3) (1,2) (4) (0.6)

If1: R =R, f(x)=2x -3, then I(x + 1) is equal to
[:R—=R, (%) = 2% = 3 soxd f{x + 1) 2rdolb

(1) x=1 (2) x-3

(3) 2x-3 (4) Zn—1
79. The limiting position of secant of a circlgds

(1) Radius (2) Diameter

(3) Chord (4) Tangent

2y Sode dos), 438

(1) =pngse (2) g

(3) = (4) ade
80. If In=x, then'En" is equal to

In =X eoas® £n’ 0 Samisuss

(1) % (2) x?

(3) Jx (4) 2x
81. It "C,="C,, then the value of 'n' is

"C, = "C,ucosd 'n’ Heu

(1) 3 () 9 (3) 12

MEC/CEC [16]
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82. The perpendicular slope ofaline 5x -2y +4=01Is
Bx =2y + 4 = 0 &2 covarr dol Bp o), oo

1) 2 @ 2
(3 2 4 3

83. The area of a triangle formed by the line joining the points (4, 0) and (0, 5) with the
co-ordinate axes is (in 5. units)

DSy oo Sobata (4, 0), (0, 5) Sotiapems S0 SR Sk esbobnd= phibes oo
(8 e d)

(1) & (2) 8 (3} 10 (4) 20

84. The maximum value of an objectivafunction f = x + 4y is at the point
ﬂi;ﬁﬂﬁmﬂ =X+ 4ymmbrmg.mmmagm
(1) (3,0 (2) (4,0)

(3) (0,5) (4) (O, 8)
85. Harmonic mean ol8and 3 is

Basbolade l:l'h:t:;b. e :Sxia.ﬁ:tm.‘u

(1) 4 (2)

(8), 3.2 (4)

B6. AABC~ APQR.If AB=3.6, PQ=24and PR =5.4, then the value of AC is

AABC ~ APQR. AB = 3.6, PQ = 2.4 2:8a0: PR = 5.4 woess AC Dea
(1) 36 (2) 8.1 (3) 5.4 (4) 7.8

MEC/CEC [17] (P.T.0)
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87. I15"=86,6"=7 and 7° = 5, then the value of xyz is
5 =6,6"=7 %80T =5 ecood XyYZ DS
(1) 210 (2) 18 (3) 1 (4) O

88. The 10" term of the series %%% is equal to

%1%,%”" HE:QM"ﬂ'ﬁm

(1) 25 @ =
® 53 4) oza

89. If the function f:R — R defined by f{x).=3x — 4, then (x) is

[:R— R el @Foatrdy () =3x <4 2504 17(x)

|

(1) X (2) 3x+4

L) | =+

X—4
@) =5~ (4) Ix—4

90. Iftan (A+B)=./3 andtan A=1,then ZB is

tan(A'+ B) = /3 subaiutan A = 1 sawnd 2B Da

(1) 3 @ 3
(3) 3 @) %

MEC/CEC [18]
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g1. Tha mean of 10 observations is 18.3, If an absarvation 23 is wrongly recorded as
32, then the correct mean is

10 so¥de @t 16.3. soms .8 sodiies Deod 23 £ extfooonm 32 el Blnarm 5o, BE% Bt

(1) 15.04 (2) 154

(3) 17.2 (4) 17.02

82, The length of the tangent drawn from the point 'P* which(s at a distance of 5 cm

from a circle having diameter 6 cm (in cm)

6 %ot Tyt Mo Symas ool SoEso #od Ste.b. 8rted fio P fodi fal s

Do Ao, ond Sty (e, nef')
(1) 5 (2) 4
(3) 3 (4) 2

93. The quadratic equalion, Whose roots are 2+ +/3 and 2-+/3 will be

2 4 /3 Soboin 23 mrees eS¢ slustieo
(1) x* %804 1=0
(2) x*+4x-1=0
(3 x*-4x+1=0
(4) x" =dx=1=0

MEC/CEC [19] (P.T.0.)
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84. If there are 'n' arithmetic means between 'a’ and ‘b, then the common difference 'd
I3 equal to

‘a 'b'u;a:-d;‘n' oo Soghiainns Mo, 'd Soroddo eonsid 'd' Deuld

(1) ey
(@) 53

(3) a+b
(4 2=2

85. If AcB, then Au(B-A) is equal to
AcBewsd Au(B-A) D asrisn
(1} ¢ (2) K
(3) B (4) A

86. The n™term of the progression 2.3+ 34 +45+ ... Is

234+ 38445+ .. &L @i N 55w
(Bon(n+1)

(2) (n+1)(n+2)

(3) n{n-1)

(4) (n=1)(n+1)

MEC/CEC [20]
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97. If a® =0.04, then the value of a° is
a® = 0.04 soud 27 Deus

(1) 08 (2) 0.08 (3) 0.008 (4) 0.0008

98. A histogram consists of

(1) Rectangles (2) Triangles
(3) Circles (4) Sectors
i B Do (Histograms) sBratocdd

(1) &g ddodEisaes (2) s
(3) Hmes (4) Sogpton:

1 2 3
99, “A=[4 . E]+ﬂEﬂthEmﬂE[mﬂTE

12 3 .
A= 4 5 8 mﬂﬂumﬂ'bﬂﬂl"ﬁ
(1) 3x3 (2) 2x3 (3) 2x2 (4) 3x2

100. The centroid of the triangle whose vertices are (0, 0), (6, 0) and (0, 8) is
(0.0), (6, 0) :3:8cuis (0, 8) Srewne fo Pebestos dlast), St

o (29 o (49

@ (53) 4) (6,6)
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PART =11l
SOCIAL STUDIES
101. India has a total geographical area of

1ml

103

(1) 3.28 million sq.km (2) 3.38 million sq.km
(3) 3.48 million sq.km (4) 3.58 milllon sg.km
aroot g &R VE Mhge

(1) 3.28 D:faies .40, (2) 3.38 dalhd o200
(3) 3.48bunSodt. (4) 3.58 JuBaxnT .28
The latitude which passes half way through the country.is

(1) Tropic of cancer (2) Greenwich line

(3) Tropic of capricom | (4) Equator

o Sodir Aoh ety

(1) = eds (@) fuSte (3) shstide (4) gragite
The South West ward extension of pirpanjal range is called as
(1) The Shivaliks (2) Dhaula Dhar range
(3) Karakoram range (4) Pamirranges

LEzoerd Son@eIEt RassE T, e Sl e
(1) &85 ded (2) b (3) =oEcoded (4) 2r2ob asode

104. The National Flood Control Programme was launched in the year

eGS0t U8 Mabohes T G hed Bt

(1) 9862 (2) 1953 (3) 1955 (4) 1954
105. The serious consequences of wind erosion are seen in

(1) Rajasthan (2) Maharastra

(3) Uttar Pradesh (4) Madhya Pradesh

Tl | SeEabao e DA O JDoreil 4 Tfed Braienn

(1) ouips (2) Sooq (3) G (4) mogEdd
MEC/CEC [22]
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106. The maximum hectarage under tank irrigation is found in

(1) Manipur (2) Kerala

(3) Andhra Pradesh (4) Goa

Dt CEr arnidlg S T Dol eBhsom

(1) soedyr (2) 2w (3) et (4) Rz
107. The benefits of 'Kosi project’ are shared by

(1) India-Pakistan (2) India-Bangladesh

(3) India- Nepal (4) India- Mynmar

' e Sal Balrato Sadlio, Sod Ses
(1) wod-24n85  (2) wol-erondd  (3) o830 " (4) ooS-manf

108. The biggest oil refinery in India is located at

(1) Madhura (2) Sikkim (3) Hyderabad  (4) Jharkhand

TS wd g WSt #:) oo gits Arbotindsd

(1) g (2) e (3) ipcowed (4) =gk
109. The Longest National Highway in India is

(1) NH-5 (2) NH9 (3) NH-4 (4) NH-7

roniaol’ eoot e el et

(1) 5 3Ronh emdalh SR (2) 93570nd erdah G300

(3) 4= Nowdh edal Sred (4) 7 2Rcmd ool Srord
110. The highest peak inNilagiri hills is

(1) Anaimudi (2) Doddabetta

(3) Kanchen Junga (4) Annapuma

~ehd §osed” J0 Spdo

{ T eptood (2) gt (3) Tosirom (4) SRRy
111. The retreating monsoon causes substantial rainfall in

(1) Malabar coast (2) Odisha coast

(3) Coramandal coast (4) Kamataka coast

AETEIS x0alioiis Pood® i Stod® Dintor Sdo Diiyel

(1) ootdse (2) cledbo (3) Borecddoe (4) sousdoe
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112. According to 2001 census the density of population in Delhi was

2001 esrer 85,0 5700 &8 midrogso

(1) €5 (2) 903 (3) 13 (4} 9204
113. The type of soil is suitable for cultivating for jowar crop is

(1) Alluvial soil (2) Black clayey soil

(3) Desert soil (4) Loamy soll

i Dot DOCOTHTIIS S 059 Syd ) &NoEroonT GO0

(1) egdndie (2) dgueroindios (3) gl ((4) Tom it

114. The Gold resarves are located in the Andhra Pradesh regian of

(1) Chittoor (2) Krighna (3) Khammam (4) Anantapur

wsfEA L semdc 0ol Srade

(1) Sop (2) spp (3)" =90 (4) wicByses
115. The State have more number of Sugar Factories in India.

(1) Odisha (2) MNagaland (3) Uttar Pradesh (4) Rajasthan

grobliod’ 2 3 Nogyd' Dol STl e Ogo

(1) i (2) Tmech (3) agoeAs (4) oeps
118, The inland water way between Andhra Pradesh and Tamil Nadu is

(1) Buckingham canal (2) Sirhind canal

(3) Kencanal (4) Periyar canal

sog@a i Ltatl Bl oiped o soliplul melingo

(1) edchtlisos (2) siirobzan (A) B end (4) wlotrbsend
117. The total number of Islands situated in the Bay of Bengal are

eavtvartced Mo 8o Somy

(1) 220 (2) 221 (3) 222 (4) 223

118. Napoleon was greatly influenced by the Philosopher

(1) Aristotle (2) Rousseau (3) Nietzche (4) Socrates

o estheol RaP IO DS O s
(1) wofpdd (2) crd (3) 3= (4) #ngiS
MEC/CEC [24]
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119.

120.

Code
The French representative attended the Congress of Vienna held in 1815 was
(1) Lord Castlereagh (2) Meatternich
{3) Talley Land (4) Francis
1816, Doty i0idod” s o) 605
(1) obsafh (2) Dototnk (3) ool (4) rom
The Principle of ‘Right to Work' was advocated by
(1) Robert Oven (2) Louis Blanc
(3) Saint Simon (4) Kar Marx

'M'mwiﬁ‘ﬁa
(1) cubeas (2) eranrencs (3) Tocooel 0% = (4) Tearh,

121. The Headquarters of the League of Nations was established at
(1) Naw York (2) France (3) Italy (4) Genava
Trend el poRTTTmalie st Sad
(1) amprrb, (2) &% (3) (@hb (4) &
122. The book written by Hitler treated as Bible forNazis was
(1) Communist Manifesto (2) Das Capital
(3} Men Kamt (4) Warand Peace
ooty o drdrodss breb roge
(1) surmdrpandig (2) ohsbed
(3) Tocosd o (4) obecbin
123. The person who led the freedom struggle and brought Indepandence to Chile and
Peru was
(1) Simon Balvar (2) Robert Mugabe
(3) Don Pedro (4) Jone-D-San Martin
OB, Er@awo 20 TrabEnged’ Srgtogo Zrooran
(1), BesSedat (2) orefSemd (3) s () EMF&MQE
124. TheChief architect of the Non-Alignment Movement was
(1) Indira Gandhi (2) Jawaharlal Nehru
(3) Motilal Nehru (4) Rajiv Gandhi
et dipts (3o el
(1) wolorreod (2) esorbodapr () wrdodfagr  (4) odSnod
MEC/CEC [25] (P.T.0.)
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125. The Founder of ‘Communist Party of China' was

(1) Maog- Tse- Tung (2) Ho chi Minh
{(3) Chiang- Kaishek (4) Yuan Shikai
"GEarn S el P R
(1) 205 - &, - exof (2) +F-0-2ug
(3) Dorof soastl (4) ctoerd-besom
126. The new art of the Kanishka period was known as
(1) Ajantha art (2) Amaravali schoolof art
(3) Gandhara art (4) Madhura school of art
S0, SO ) SN Bentil

>

(1) swomrdgse  (2) sosdigsy (3) yrogodesy  (4) Do0Sgsv
127. The first person to state that eclipses are caused by ‘the shadows of the earth

falling on the moon' was

(1) Aryabhatta (2) Varahamihira. . (3) Kautilya (4) Charaka

'SEPIh Aok, Thaien Hoal Jod BEdta’ » YErrPe P el hoodes Byt

(1) estsgny (2) sl (3) Tooxd (4) e
128. The Christian Missionary established- Serumpur College in Bengal was

(1) Alexander Duff (2) William Keri

(3) Lord Dalhousia (4) William Bentick

(1) edpesbcs (2) 2Daboib (3) ebogh (4) Sbcbo BotlE

129. Inindia, the movement slarted by Muslims against the British was

(1) Vandemataram movement (2) MNon- Alignment movement
(3) Salt Satyagraha (4) Khilafat movement
(OBt EHSEO8 5533sm o ool daio

(1) sefiredeaspive (2) wdiopos

(3) @ SorgfRy édiioo (4) Dordd aszvo
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130. The editor of Sanjivani News letter was

(1) Sisir Kumar Ghosh (2) Subramaniya lyer
(3) Bala Gangadhar Tilak (4) Surendranath Benerjae
R Y Rodrttxd
(1) &85 murborl (2) Sogolora soleb
(8) rrovonshdob (4) ARordang
131. The famous scientist left Germany during Hitler's dictatorship was
(1) Sirlsaac Newton (2) Albert Einstein
(3) Grahambell (4) Marconi
tranb ooyt e Bn SO0 05 Bhg THAG
(1) sBoerfames (2) ewgbath (3) risacd (4) =Gyl
132. The founder of Bolshevik Party in Russia was
(1) Nicolas - Il (&) Czar Alexandar Il
(3) Lenin (4) Father Gupon
o g8 40 oDt
(1) =s'el-1I (2) erbedmosbll
(3) &0 (4) FcbRSrs
133. Among the World Languages, The Telugu Language status at the position ol
@500 yrapiedd’ Seu RTRo
{1} 16 (2) 17 (3) 18 (4) 19
134. The Officer appointed for each constituency to supervise and conduct elections is
called as
(1) Presiding Officer () Polling Officer
(3) Returning Oficer (4) Commissionar
£ Dalrey 54 ST MtkErr 0oy HOREPHSD
(1) dpdohusms  (2) MDcfelsd (3) dubpfmbed (4) Zoipd
MEC/CEC [27] (P.T.O.)
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135. National Literacy Mission was established in this year

ol eaiforiigr Dotded Aboitedss Howildo

(1) 1988 (2) 1989 (3) 1980 (4) 1991
136. The Total number of Republics in Latin America are

T3S aRelws’ v Dastii uESe oy

(1) 24 (2) 25 (3) 2% (4) 2%

137. The first General Elections were held in the year in our country
Sosdeod AueAudad Srerdrs Jsino MOAS Hobeycthn

(1) 1949 (2) 1950 (3) 1951 (4) 1952
138. During the British rule the scheduled castes were called as

(1) Dalits (2) (Depréssed castes

(3) Scheduled castes {4) Scheduled tribas

s oo ot DUGTD Jruir oo LS bossalat

(1) sdvoes (2) sl dabads S

(3) g sew (4) Sag erooe
139. Right to Freedom guarantees the following number of freedoms

(1) Six (2)-Seven (3) Eight (4) Nine

(1) e (2) D (3) Sn2es (4) T
140. The Power vestad with the parmanent member countries of the LU.N. Security

Councilis

(1). Supervising power (2) Discretionary power

(3) Veto power (4) General power

mf; O S0 2 Gigor Sooabé’ ) it Sk Seedd fo els o

(1) =oigredode (2) Sogedsrdo

(3) @0LHc3 (') wlsto (4) Frotnelsto
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1411-

142,

143,

144,

145.

Code

In 1873, the Algiers Conference of the Non-Aligned Nations called for the
establishment of

(1) Renewable resources (2) New International Economic Order

(3) National Remote Sensing Agency (4) Environmental Protection
1973 & ohbs" b i tare Saridte A2 sSRo Golnd

(1) SRoomn s (2) Ao votcrocd ufs dan
(3) erdah SErTre Rosrd oy (4) Sorgdtie 300D

The Social Housing Scheme implamented particularly for the weaker sections of
the sociaty was
eelrid Sore MtEioresty Gthtio Bdo Srarobols 3850

(1) SGSY (2) JGSY (3) IAY (4) RWP
The type of inflation relevant to India is

(1) Demand - pull inflation (2) ' Cost push infiation

(3) Hyperinflation (4)  Core inflation
APOBAEDL B3 OIS (T e Sed

(1) asrobapdeSpee (2) sohesigro

(3) 3zsb ¢ggeso (4) oornaSigeo

The unemployment more relevant in the Indian Agricultural Sector is

(1) Voluntary unemployment (2) Involuntary unemployment
(3) General unemployment (4) Disguised unemployment
LPOBEE Snralitenod’ e e Ja A el

(1) s Soesyo (2) enoyyres sy

(3) Prom sty (4) Spaaete

In 1995, India’s Per Capita Income was

(1) 330§ (2) 340% (3) 350% (4) 360%
1995 iicittod” orodth Boidd soabo

(1) 330zem (2) 340wt (3) 3505w (4) 3I60cwm
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146, The income earned through weailth and property is known as
(1) Eamed income (2) Uneamed income
(3) Non-taxable Income (4) Revenue income
0, eiye Muod Jrol amaliih g TihSdy
(1) odron eorabo (2) wiodrdp uorabo
(3) o estrulo (4) TRRrpeoao
147. The continuous exploitation of economic resources by the British.rulers was termed
as "Plunder of Economic Wealth” - by
(1} D.R. Gadgil (2} Jawaharlal Nehru
(3) Amartya Sen (4) Dada Bhai Naoroji
Ee 0 et EBAD vele Bons Pefudor melisfoddrd
1) D.R.rga (2) msrberdagre  (3) slSgons (4) ocoron TER
148. The difference between voluntary and involuntary unemployment was first
distinguished by
(1) J.M. Keynes (2) Malthus
(3) Raghuram Rajan (4) Adam Smith
STy S, Ryed U TR S0y Bora Ssdits MGl T
(1) J.M. 45, (2) Ergh (3) worbhons (4) echins
149, The pattern of shareholding with in a firm is known as
(1) Equity (2) Share (3) Investmant  (4) Interest
&4 Heid ST DO e coD
(1) et (2) o (3) nyma (4) =g
150, ThéBank which control and regulates the flow of money and credit in India is
(1) s8I (2) Andhra Bank
(3} Reserve Bank of India (4) Cantral Bank
BB TS 00 o e
(1) peSerpb el godarr (2) woprempt
(3) Cusbgeryes el modar (4) wogdergt
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